EARAZROREIERT — 2 N—XBISY —F 20215E8H2H (A) 3MEEmMSH

PRl 3 C2=# 5% 3% ‘ [Xiz] % ‘ [eErsm]  — | & (%) 12000 B
[AE4£] 1% :350,000 ™ ~ 23#&:123,000” ~ 33#&:70,000 ~ 43#%:35,0008” . 53&:18,000 @
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
ST ROE— :16. — . - EEE (KR)
1189 Frl)—NILY 4 3 a5 1(1_6)0 3-3 38.9 1 (4:119) :%‘?EEE
R:7Ud—v B:ILA—-Ea1i—7+« Sk
S o A B3 | WAEE 1:16.2 4-4 38.9| — 4 454 | TE=E (KR)
2|55 IAYI—X> 54.0 (1 1/2) (-a) |REEAULE
L:xrinaOo— B:NAv—7 Fo e
i : i 3 | EERE 1:16.3 2-2 39.5| — 5 402 | RREHVEA (BERE)
3l7|/7|FzV—-7A-FkK 54.0 (7€) o) | KlE=sE
L:7TV=F14 B:X22)=-T-) [alisbie]
. N 8 £ 5 HREB : — — BRAS (KR)
4 3| 7—7~ YAY=ESS # 8 A53.0 (12'116/'27) 59 %86 8 ;‘f; E(m MR ’
RWN=5—=-29 7T BIASTo48— AW
S 5 # 3 | BRRA 1:16.8 9-8 38.6| — 7 503 | #RIESAI (KIR)
5 4177727 56.0 (3/4) (-5) | TBmE
R:Hgh—0 B:xvyITIM4FK & %
o = S EATE :16. = . — 1E 2 ARBEl (KiR)
6 6| NvE=FRUFTAX e 54.0 1(,1\6;33 - 01 2 ?_357) AINEE
LHIRT TR BRKYTFAALTAR HE EAR
. i3 | AKIBE 1:17.7 5-5 40.2| - 9 401 | HHEE KR)
7lglg|T>E2AHI—H 54.0 ®) (c3) | PHERES
R:EXFAVY B:FAYICKR MH RE
. i 3 | EREE 1:17.8 7-6 39.9| — 6 431 | 1E£EE#EB] (OKiR)
IRIRREARE A 54.0 (1/2) () | MR '
L:UIM4a—2 BiNlEsas 797577 — I
3 I - # 3 | HER 1:17.9 6-7 40.1| — 8 439 | HEE (KR)
9 2 HI/IZZ 54.0 (3/4) +2) HEEE
R:TvRB914 B:Ah/TLA1v— ILESS
® I—F—&EBIERL
13—=7-
23—7F—
§T=5r= 6,7,9,5,8,2,1,3,4
43—F— 6,7,9,5,8,1,2,4,3
[ RN
B 9 150 794K 5-9 230 & 5-8 540 &R 5-7-9 980F
# B 9 130M 7-9 360F B E 5-9 510 EE 9-5-7 3,000
5 170 5-7 700M B H 9-5 700M
7 160/

ARICOVWTRDTEEERROODE. TR LIV,




